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1. BERSIHERSE
Device ID : Setup device ID with dip switch; ON H 1, OFF ﬂ :0
— Device ID (ON : 1,0FF : 0)
7| 1 | 00000001 m 64 | 0100 0000
2 | 0000 0010 m 65 | 0100 0001
O,
G+ meLm3 /—
" ( 30 | 0001 1110 m 100 | 0110 0100
ouUT
oND 31 | 0001 1111 m 101 | 0110 0101 m
NO
COM
NC P - ~
Ve
CR- SET, | on
ol [P el T 1 | 60 | 00111100 m 127 | 0111 1111 m
N BY o
- 61 | 0011 1101 m 128 | 1000 0000 m
2. S ERYEF Protocol :
Baud Rate = 9600 - Word Length = 8 - Parity = none - Stop Bits = 1
HERAYFR T, Data Reading Type
WStk IhEE Stk BERHEE PR
Device ID Function Address Data Length Checksum
CO2 ppm OXFF 0x03 0x0000 0x0001 XXXX
s e Temperature OXFF 0x03 0x0001 0x0001 XXXX
% Humidity OXFF 0x03 0x0002 0x0001 XXXX
coza
Temperature & OxFF 0x03 0x0000 0x0003 XXXX
Humidity
EfEESREI#E R, Responding Data Type
WERE Ak ThEE BElaHEL Cc0o2 B VEEIE PEEAAR A
Device ID | Function | Data byte ppm Temperature | Humidity | Checksum
CO2 ppm OXFF 0x03 0x02 0x02DC X X XXXX
SEfE Temperature | OXFF 0x03 0x02 X 0x0934 X XXXX
s Humidity OXFF 0x03 0x02 X X 0x130B | XXXX
co2&
Temperature & OXFF 0x03 0x06 0x02DC | 0x0934 | 0x130B | XXXX
Humidity
* Remark 1 :

XXXX B CRC16HfaE iE(Checksum) XXXX is the checksum for CRC16.

* Remark 2 :

T EAEhEFT S &R Eppm. The CO2 data obtained is ppm.
TEEhRATS B R R 163 - A&k Fy0x02DCHE £ 103k - RIF5-732ppm -
The data obtained is hexadecimal. To convert 0x02DC to decimal, we will get 732ppm.

UL RO E TS E R R 102 - FFR10081ZI6RE

HEREEH

The temperature and humidity data obtained is decimal and when it is divided by 100. We will get
Temperature and humidity value.
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#fy] Example:

JRTE RS ERI2356(107:4]) - 42356/100=23.56°C
The temperature data obtained is 2356 (decimal). Then 2356/100=23.56C
VSRS ERI4875(10: ) - 1474875/100=48.75%
The humidity data obtained is 4875 (decimal). Then 4875/100=48.75%

RIEAE, Calibration

#5 132pPMEFLIE F5662ppm - FZIE(H £5(662-732) = -70ppmiE i 16 £ H|OxFFBARI AT

To calibrate 732ppm to 662ppm, the correction data is (662-732) = -70ppm.

WA 4k TIsE LG AR BRI T Ty N
Device ID Function Address Data Checksum
CO2 ppm OxFF 0x06 0x0003 OxFFBA XXXX
EEEEAFME - H T #0x0000H0 7] To reset it to the default value, set 0x0000.
ARSI HE §i=3 BRI PE el A
BRIk DIRE LG AN SR P A AT
Device ID Function Address Data Checksum
CO2 ppm OxFF 0x06 0x0003 0x0000 XXXX
7523 .56/E 3R 1F F520.56/8 - 7 1F{H £(20.56-23.56)*100 = -300°C
To calibrate 23.56°C to 20.56°C, the correction is as below:
(20.56-23.56)*100 = -300°C
WA i TIkE LG AN BERIAA Ph R A
Device ID Function Address Data Checksum
Nugs=3
P OxFF 0x06 0x0004 OxFED4 XXXX
Temperature
7523 565 3R 1F F526.561F - #51F{H £5(26.56-23.56)*100=300C
To calibrate 23.56°C to 26.56°C, the correction is as below:
(26.56-23.56)*100 = 300°C
WA 4k TIkE LG AN BERIAA PH AR A
Device ID Function Address Data Checksum
Nugs=3
P OxFF 0x06 0x0004 0x012C XXXX
Temperature
FEEEEFIE > R NEEOBI AT To reset to default value, set 0.
BRIk TIsE LUG AN BERIAA PH AR A
Device ID Function Address Data Checksum
Nugs=3
P OxFF 0x06 0x0004 0x0000 XXXX
Temperature
F548.75%RHERSE F545.75%RH » #551F{E £5(45.75-48.75)*100= -300%RH
To calibrate 48.75%RH to 45.75%RH, the correction is as below:
45.75-48.75)*100= -300%RH
WA 4k TIsE LG AN BRI Ph e A
Device ID Function Address Data Checksum
IS
. As OxFF 0x06 0x0005 OxFED4 XXXX
Humidity
F548.75%RHERE £551.75%RH » 1 1F{E £5(51.75-48.75)*100=300%RH
To calibrate 48.75%RH to 51.75%RH, the correction is as below:
(51.75-48.75)*100=300%RH
WA 4k TIsE LG AN BRI PH e A
Device ID Function Address Data Checksum
ggrg OxFF 0x06 0x0005 0x012C XXXX
Humidity
L ERIME - RN 22080\]
To reset to default value, set 0.
WA ik TIsE LG AN BRI PH AR A
Device ID Function Address Data Checksum
T
- OxFF 0x06 0x0005 0x0000 XXXX
Humidity
* Remark 3 :

&b TR E F+70ppm ~ R EEEEFE T HREL E F5+500 (°C / %RH)

The CO2 calibration range is £70ppm; temperature(°C )/humidity (%RH) is £500
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